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2.805611 mS

Time of One Pulse for Acquisition Mode
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Time of pulse train with blanking interval =
76.152304 mS (73.346693 mS shown above + 2.805611 mS for Pulse Itself)

Duty Cycle for Acquisition Mode = 2.805611 mS / 76.152304 mS = 3.68%

The maximum 20 dB Peak to Average Ratio can be applied because they duty cycle is less than 10 percent.
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Time in Data Mode = 2.805611 mS
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Time of pulse train with blanking interval = 71.743487 mS
Duty Cycle for Data Mode = 2.805611 mS / 71.743487 mS = 3.91%

The maximum 20 dB Peak to Average Ratio can be applied because they duty cycle is less than 10 percent.



